
Keressük x-et n
99 +

1

n
alakban, ahol n 1-nél nagyobb egész. Ekkor

{x2k+1} =

{

(

n
99 +

1

n

)2k+1
}

=

{

(n99)2k+1 +

(

2k + 1

1

)

(n99)2k ·
1

n
+

+

(

2k + 1

2

)

(n99)2k−1 ·
1

n2
+ · · ·+

(

2k + 1

2k

)

n
99 ·

1

n2k
+

1

n2k+1

}

=

=

{

2k+1
∑

i=0

(

2k + 1

i

)

n
198k−100i+99

}

.

Ha 0 ≤ k ≤ 49 és 0 ≤ i ≤ 2k, akkor 198k − 100i+ 99 > 0 egész. Tehát ebben az esetben
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Így
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Azaz, ha n > 299 + 1, úgy x = n
99 +

1

n
választása mellett
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≤
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.
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